Zasuwa Z2

istn. wod. ¢40 Ro=264 47

istn. gaz. 990 Ro=26511

istn. wod. ¢40 Ro=264 42

istn. wod. ¢40 Ro=264,64

istn. wod. ¢40 Ro=26472

istn. wod. ¢40 Ro=264,76

proj. kan. san. ¢160 Rd=264,74

ST150-5149
istn. wod. ¢40 Ro=264,20

istn. gaz. 832 Ro=265 54

istn. wod. ¢40 Ro=265,06

istn. wod. ¢40 Ro=26520

istn. wod. ¢40 Ro=26542

istn. wod. ¢40 Ro=26572

proj. kan. san. @160 Rd=26545

S120-5119
istn. wod. ¢40 Ro=265 84

istn. wod. ¢40 Ro=26520

istn. gaz. o50 Ro=266,51

proj. kan. san. @160 Rd=266,09

o114 -5T113

proj. kan. san. ¢200 Rd=264 27

5106 - 5105

istn. wod. ¢40 Ro=266,00

1stn. gaz. gbl Ro=2bb,60

proj. kan. san. ¢160 Rd=265,08

S93-592
istn. gaz. 50 Ro=266,52

istn. gaz. 890 Ro=266,50

Zasuwa Z3

istn. gaz. 990 Ro=266,13

istn. kabel energ. NN 220 Ro=265C

istn. wod. ¢40 Ro=264,05

istn. wod. ¢110 Ro=26520

Zasuwa Z4

istn. wod. ¢40 Ro=270,25

1 istn. wod. p40 Ro=270,89

istn. wod. ¢40 Ro=270,80
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